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To record monthly accretion expense

Every month, the ARO liability must be accreted to the final future value of the ARO liability at
the company’s risk free rate plus risk premium.

3) Settlement of the obligation and the retirement of the initial asset: There are a number of
journal entries that are required at the time the asset for which the ARO is attached is retired and
the settlement of the ARO obligation is made to properly reflect the effect of FAS 143 on
operations. These journal entries are:

¢ To record gain or loss on settlement of ARO liability;
e To record retirement of ARO Asset;
» To record retirement on asset for which the ARO is attached.

To record gain or loss on settlement of ARO liability

When the ARO liability is settled, any gain or loss resulting from the difference between the
ARO liability currently reflected on the Balance Sheet and the total cash outflow must be
reflected in operations. Any gain or loss should be reflected when the last cash payment is made
and the gain or loss can be accurately calculated.

To record retirement of ARQ Asset

When the ARO asset is retired the difference between any cash inflow (none for ARO assets) and
the net book value of the ARO asset is to be reflected as a gain or loss on the company’s Profit &
Loss Statement.

To record retirement on asset for which the ARO is attached

When the asset for which the ARO is attached is retired any gain or loss is to be reflected on the
company’s Profit & Loss Statement.

4) Additional ARO resulting from an increase in ownership percentase: An increase in
ownership percentage may create an additional ARO liability. This additional ARO liability (in
current dollars) must be future valued at the anticipated inflation rate to when the projected cash
outflows will occur. The additional ARO liability must then-be present valued back to the date
the additional ARO was incurred (date of ownership percentage change) using the company’s
risk free rate plus risk premium. This present value of the additional future cash flows is an
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additional layer of ARO asset to be depreciated over the remaining useful life of the asset for
which the ARO is attached. A corresponding increase to the ARO liability is also to be made.

Regulated Operations

As stated earlier in the paper, the impact on regulated entities resulting from FAS 143
{implementation to setttement) will be Profit & Loss neutral and will be reflected as a regulatory
asset/liability on the Balance Sheet as long as the recovery of the regulatory asset/liability is
probable under FAS 71. Overall, the journal entries required at implementation, subsequent to
implementation and settlement are primarily the same except that during implementation any
cumulative effect that would have occurred in an unregulated environment would be reflected as
a regulatory asset/liability in a regulatory environment and any effect on earnings going forward
from implementation that would have been realized in an unregulated environment would be
reflected as a regulatory asset/liability in a regulated environment.

1) Journal Entries Required at Implementation: There are a number of journal entries

required at implementation to properly reflect the effect of FAS 143. These journal entries are:

¢ To record the initial fair value of the ARO asset and ARO liability;

* To record the effect of depreciation on the ARO asset from the time the ARO liability was
incurred to implementation (offset is regulatory asset/liability);

* To record the effect of accretion on the ARO liability from the time the ARO liability was
incurred to implementation (offset is regulatory asset/liability);

* To record the reversal of gross cost of removal liability accrued to date (offset is regulatory
asset/liability);

To record the initial fair value of the ARO asset and ARO liability

The journal entry to record the initial present value of the ARO asset and the ARO liability at
implementation is the same for both regulated and unregulated entities.

_Upon implementation of FAS 143, the ARO liability (in current dollars) must be future valued at
the anticipated inflation rate to when the projected cash outflows will occur. The ARO fiability
must then be present valued back to when the liability was first incurred using the company’s
risk free rate plus risk premium. This present value of the future cash flows at the time the
liability was first incurred is the ARO asset to be depreciated using a systematic and rational
allocation method. This amount is also the initial ARO liability before any accretion on the ARO
liability to date of implementation and beyond.
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To record the effect of depreciation on the ARO asset from the time the ARO liability was
incurred to implementation

As with unregulated entities, the ARO asset must be depreciated using a systematic and rational
allocation method. The total life to date depreciation that would have occurred if the asset was
established at the time the ARO liability was incurred to date of implementation of FAS 143 js
reflected as a regulatory asset/liability on the regulated entity’s Balance Sheet rather than to the
cumulative effect.

To record the effect of accretion on the ARO liability from the time the Hability was
incurred to implementation

As with unregulated entities, the ARO liability must be accreted to the final future value of the
ARO liability at the company’s risk free rate plus risk premium. The total life to date accretion
that would have occurred if the ARO liability was established and accreted from the time the
ARO liability was incurred to date of implementation of FAS 143 is reflected as a regulatory
asset/liability on the regulated entity’s Balance Sheet rather than to the cumulative effect.

Te record the reversal of gross cost of removal liability accrued to date

The gross cost of rernoval liability accrued to date must be reversed from the Balance Sheet
(accumulated depreciation) and offset against the regulatory asset/liability.

2) Monthly Journal Entries Subsequent to Implementation: There are a2 number of journal
entries that are required each month to properly reflect the effect of FAS 143 on operations.
However, no depreciation on the ARO asset or accretion on the ARO liability is reflected on the
regulated entity’s Profit and Loss Statement but rather these adjustments are recorded to the
regulatory asset/liability on the Balance Sheet as the effect of FAS 143 is Profit & Loss neutral
as long as recovery is probable under FAS 71. The entries to reflect both depreciation and
accretion expense are originally made to the appropriate expense category. However, the
monthly amounts are then adjusted from the expense category to a regulatory asset/liability.
These joumnal entries are:

‘s To record monthly depreciation expense;

¢ To record monthly accretion expense.

To record monthiy depreciation expense

Every month, the present value of the future cash flows at the time the liability was first incurred
{ARO asset) must be depreciated using a systematic and ratienal allocation method. The amount
depreciated is to be reclassified to a regulatory asset/liability on the Balance Sheet.
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To record monthly accretion expense '

Every month, the ARO liability must be accreted to the final future value of the ARO liability at
the company’s risk free rate plus risk premium. The amount accreted is to be reclassified to a
regulatory asset/liability on the Balance Sheet.

3) Settlement of the obligation and the retirement of the initial asset: There are a number of
journal entries that are required at the time the asset for which the ARO is attached is retired and
the settlement of the ARO obligation is made to properly reflect the effect of FAS 143 on
operations. However, no gain or loss on the settlement of either the ARO asset or the ARO

~ liability is reflected on the regulated entity’s Profit and Loss Statement but rather these
adjustments are recorded to the regulatory asset/liability on the Balance Sheet as the effect of
FAS 143 is Profit & Loss neutral as long as recovery of the regulatory asset/liability is probable
under FAS 71. These journal entries are:

» To record settlement of ARO hiability;

* To record retirement of ARO Asset;

» To record retirement on the asset for which the ARO is attached.

To record settlement of ARO liability

In a regulated environment, when the ARO liability is settled, the difference between the ARO
liability currently reflected on the Balance Sheet and the total cash outflow must be recorded to a
regulatory asset/liability on the Balance Sheet. This adjustment should be made when the last
cash payment is made and the difference between the ARO liability on the Balance Sheet and
total cash outflows can be accurately calculated.

To record retirement of ARO Asset

When the ARO asset is retired the difference between any cash inflow (none for ARO assets) and
the net book value of the ARO asset is to be recorded to a regulatory asset on the company’s
Balance Sheet. )

‘To record retirement on the asset for which the ARO is attached

When the asset for which the ARO is attached is retired any gain or loss is to be reflected on the
company’s Profit & Loss Statement.

4) Additional ARQ resulting from an increase in ownership percentage: As with an
unregulated entity any increase in ownership percentage may create an additional ARO liability.
This additional ARO Hability (in current dollars) must be future valued at the anticipated
inflation rate to when the projected cash outflows will occur. The additional ARO liability must
then be present valued back to the date the additional ARO was incurred (date of ownership
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percentage change) using the company’s risk free rate plus risk premium. This present value of
the additional future cash flows is an additional layer of ARO asset to be depreciated over the
remaining useful life and method as the asset for which the ARO is attached. A corresponding
increase to the initial ARO liability is also to be made.

Other Considerations (Unregulated and Regulated Operations):

* The original asset for which the ARO is attached, the ARO asset and the ARO liability must
be linked within the General Ledger Systems.

*+ The original asset for with the ARQ is attached, the ARO asset and the ARO liability must be
retired at the same time and any gain or loss recognized upon settlernent (unregulated).

» Corporate systems shouid be programmed to record monthly depreciation and accretion
expense so that manual entries are not required.

* Accretion on the ARO liability and depreciation on the ARO asset will stop upon settlement.

See Appendix B for Unregulated and Regulated Operations — ARO Journal
Entry Assumptions
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Financial Statement Disclosure

1. Requirements of the standard.
2. Transition disclosure requirements
3. Other related disclosure impacts

1. Requirements of the standard.

The final stage of implementing Statement 143 is the complying with disclosure
requirements (paragraph 22.), which are:

An entity shall disclose the following information about its asset retirement -
obligations: '

a. A general description of the asset retirement obligations and the
associated long-lived assets .

b. The fair value of assets that are legally restricted for purposes of . settling
asset retirement obligations

c. A reconciliation of the beginning and ending aggregate carrying amount
of asset retirement obligations showing separately the changes attributable to (1)
liabilities incurred in the current period, (2) liabilities settled in the current
period, (3) accretion expense, and (4) revisions in estimated cashflows, whenever
there is a significant change in one of more of those four components during the
reporting period.

If the fair value of an asset retirement obligation cannot be reasonably estimated,
that fact and the reasons therefore shall be disclosed.

In the statement, Appendix B, BACKGROUND INFORMATION AND BASIS FOR
CONCLUSIONS provides some background information but does not provide any additional
guidance on disclosure. If an entity does not have assets that fall within the scope of this
-standard, there is no disclosure requirement.

For those entities with assets that fall within the scope of the standard, the source of information
will obviously be available from the measurement, calculation process, and journal entry process
described previously. Without specific guidance, the content and format of the disclosure will
likely evolve over time. For many, the disclosure may take the form of a separate footnote. The
content and style of disclosure will likely vary depending on such individual circumstances as:
number or types of assets or the related obligations, differences in measurement approaches,
consolidations of companies and business segments, and the materiality of the details. Other
circumstances affecting this disclosure for the gas and electric utility industry will be related to
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application of Statement 71, Accounting for the Effects of Certain Types of Regulation and if the
final conclusions by the Federal Energy Regulatory Commission in Docket RM02-7 involves
changes in the Uniform System of Accounts to accommodate Statement 143.

2. Transition disclosure requirements

Until this statement is adopted, there is a disclosure requirement for adoption of new accounting
pronouncements. Basically, an entity is to provide qualitative or quantitative information as
available about the expected impact of implementation, updated quarterly.

3. Other related disclosure impacts

There are additional disclosure issues beyond the requirements of this statement such as other
footnotes on property, depreciation, or estimates. Current and proposed disclosure rules of
the Securities and Exchange Commission should also be reviewed for additional Statement
143 related disclosures.
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Record Keeping Issues for FAS 143

EEI does not support specific regulations related to record keeping requirements for ARO’s. As
companies develop strategies and methods for the implementation and on-going reviews required
for this accounting standard, various methods may evolve over time on how ARO’s will be
determined and measured. Because of this, EEI believes that companies should be allowed
flexibility for how they will specifically maintain these records. Basic accounting guidelines
require that companies maintain sufficient, detailed records in order to support information
provided in financial statements.

EET has developed some suggested record keeping guidelines that may help companies develop
their own policies. They are as follows:

I} Documentation of communications with Business Units/Functions. The initial
documentation of these discussions should be very detailed and thorough. Each year,
a review of this documentation should be done to determine any changes, new issues,
etc.

2) Documentation of the due diligence analysis provided by the Legal Department as
to_what is considered a lepal obligation and why. This should also include
discussions surrounding issues that were ultimately not determined to be legal
obligations and why. The legal department should then perform an annual review for
any changes, new issues, ctc. This should also include a review of the Business
Units/Functions documentation referred to in item 1) above.

3) Support for all items associated with the calculation of the ARQ including, but not limited to,

the following:

Third-party written estimates and related assumptions
or
internal cost estimates including assumptions for profits or mark-up, overheads, market
rigk premium, etc.
Timing of cash outflows
Inflation rate
Risk-free credit rate
Estimated retirement dates
Amortization schedules for interest accretion expense
Depreciation schedules

4) Support for ARQO transactions and balances included in the regulatory asset and liability

accounts.
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Appendix A — Multiple Year Cash Flows
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LG&E Eriery Corp.
Preliminary FAS 143 Journal Enties
Consolidated Utility

Discount Rate 6.61%
Inflation Rate 2.10%
Transition Journal Entries & 01/01/03
Dr Cr
ARO Asset 13,193 - BS-PV of ARO at in service date
Reg Asset 15,207 - BS-Accumuiated Accretion + Accumulated depraciation at transition Date
Reg Credits - 15,207 IS- offset to Reg Assat
Extr. Deductions 15,207 - IS-Cumulative Effect Adjustment
Reg Liability - 969 BS-Removal cost in excess of FAS 143 amount previously accrued
Acc Depreciation 2,845 2,470 BS-DR previously accrued removal cost. Cr depreciation on ARQ asset
ARO Liability - 27,807 BS5-Acc. Accretion at Transition + PV of ARO assets at in service date
46,453 46,453
2003 Post implementation Journal Entries
Dr Cr
Accretion Expense 1,838 0 15-Annual Accretion expense on ARO liability
Depreciation Expense 293 [+] I1S-Annual depreciation expense on ARO Asset
Reg Assets 2,13t - BS-SFAS 71 amount of recovery probabile in future regulatory proceedings
Acc Depreciation - 253 BS-Annual depreciation expense on ARO Asset
ARQ Liability - 1,838 BS-Annual Accretion expense on ARO liability
Reg Credits - 2,131 I15- Offset to Reg Asset
4,263 4,263

Transition JE's 6.6 %.xisConsol 10f3
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LG&E Energy Corp.
Preliminary FAS 143 Journa! Enties
Kentucky Utilities Company- Utility

Discount Rate 6.61%
{nflation Rate 2.10%
Transition Journal Entries @ 01/01/03
br Cr
ARO Asset 8,608 -
Reg Asset 9,926 -
Reg Credits - 9,926
Extr. Deductions 9,926 -
Reg Liability - 910
Acc Depreciation 2,388 1,536
ARO Liability ~ 18,477
30,849 30,848
2003 Post implementation Journal Entries
' Dr Cr
Accretion Expense 1,221 0
Depreciation Expense 178 0
Reg Assets 1,397 -
Acc Depreciation - 176
ARO Liability - 1,221
Reg Credits - 1,397
2,784 2,795

Transition JE's 6.6 %.xisKU 20f3



LG&E Energy Corp.
Preliminary FAS 143 Journal Enties
Louisville Gas and Electric Company-Utility

Discount Rate 6.61%
Inflation Rate 2.10%
Transition Journal Entries & 01/01/03
Dr Cr
AROQ Asset 4,585 -
Reg Asset 5,281 -
Reg Credits - 5,281
Extr. Deductions 5,281 -
Reg Liability - 59
Acc Depreciation 458 934
ARO Liability - 9,330
15,604 15,604
2003 Post implementation Journal Entries
: Dr Cr
Accretion Expense 617 -
Depreciation Expense 17 -
Reg Assets 734 -
Acc Depreciation - 117
ARO Liability - 617
Reg Credits - 734
1,468 1,468

Transition JE's 6.6 % .xisLGE 3of3
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Total Utility Operations
ARO Journat Entries
{$000's)

DESCRIPTION

Response to PSC Question No. 56(c)

Annual Amount

DEBIT

CREDIT

[ JOURNAL ENTRIES REQUIRED AT IMPLEMENTATION

]

Long Lived Assets - ARC - (New Account)

COR Liabitity Accrued to Date

Regulatory Asset

Cumulative effect

Regulatory Credits

Reguliatory Liability (New Account)

Accumulated Depreciation of ARQ Asset - (New Account)

ARD Liability - {New Account) l

|To record the implementation of FAS 143

13,193

2,846
15,207
15,207

15,207
969
2,470
27,807

46,453

46,453

Long Lived Assets - ARO - BS Account 317
ARQ Liability - BS Account 230
To record the initial present value of ARQ liability

Upen implementation of FAS 143, the ARQ liability (in current doltars) must be future valued at the
anticipated inflation rate. The ARO liability must then be present valued back to when the liability
was incurred using risk free rate plus risk premium at the time the liability was incurred.

The ARO asset is valued at the present value of the liability at the time the liability is incurred.

13,193

13,193

Cumulative Effect Adjustment - IS Account 435
Accumulated Depreciation of ARO Asset - 85 Account 108

To record accumulated depreciation on ARO assets

Assumes the ARQ Asset is depreciated over the same Jife and method as the asset for which
the AROQ is attached.

The cumulative affect adjustment is offset by a credit to other regulatory credits {Account 407}
and a debit to Regulatory assets (Account 182.3)

2,470

2,470

Cumulative Effect Adjustment - }S Account 435
ARO Liability - BS Account 230

To record accumulated accretion on ARD liability

The total accretion expense that would have been incurred if the liability was accreted from the time
the liability was incurred to date.

The cumulative affect adjustment is offset by a credit to other regulatory credits {Account 407)
and a debit to Regulatory assets (Account 182.3)

14,614

14,614

Accumulated Deprecation- BS Account 108
Reguiatory Liability - BS Account 254
Cumulative Effect Adjustment - 1S Account 435
To reclassify existing Cost of Removal

The COR liability currentty reflected on the Balance Sheet must be fully reversed from the reserve,

The cumulativa affect adjustment is offset by a credit to other regulatory credits (Account 407)
and a debit to Regulatory assets {Account 182.3)

2,846

969
1,877

Regulatory Assets - BS Account 182.3
Regulatory Credits - IS Account 407

Because ARO costs gualify for SEAS 71 treatment The cumulative affect adjustment is offset
by a credit 1o other regulatory credits (Account 497) and a debit to Regulatory assets (Account 182.3)

15,207

15,207

Summary-143 Mcdel xis Total Wtility Transition JE 3of7
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Louisviile Gas and Electric Company
ARO Journal Entries
($000's)

DESCRIPTION

Response to PSC Question No. 56(c)
Page 301 of 376
Scott

Annual Amount

DEBIT CREDIT

[ JOURNAL ENTRIES REQUIRED AT IMPLEMENTATION

Long Lived Assets - ARQ - (New Account)

COR Liability Accrued to Date

Regulatory Asset

Cumulative effect

Regulatory Credits

Regulatory Liability (New Account)

Accumulated Depreciation of ARO Asset - (New Account)
AROQ Liability - (New Account)

‘ To record the Imglemenration of FAS 143

4,585
458
5,281
5,281
5,284

834
9,330

15,604 15,604

Long Lived Assets - ARC - BS Account 317
ARO Liability - BS Account 230

Ta record the initial present vaiue of ARD liability

Upon imptementation of FAS 143, the ARQ liability {in current dollars} must be future valued at the
anticipated inflation rate. The ARO liability must then be present valued back to when the liability
was incurred using risk free rate plus risk pramium at the time the liability was incurred.

The ARQ asset is valued at the present value of the liabllity at the time the liability is incurrad.

4,885
4,585

Cumulative Effect Adjustmaent - {8 Account 435
Accumulated Depreciation of ARO Asset - BS Account 108

To record accumulated depreciation on AROQ assats

Assumes the ARO Asset is depreciated over the same life and method as the asset for which
the ARO is attached.

The cumulative affect adjustment is offset by a credit to other regulatory credita (Account 467)
and a debit to Regulatory assets (Account 182.3)

934
934

Cumulative Effect Adjustment - IS Account 435
ARO Liability - BS Account 230

To record accumulated accretion on ARO liabifity

The total accretion expense that would have been incurred If the liability was accreted from the time
the fiabitity was incurred to date.

The cumulative affect adjustment is offset by a credit to other regulatory credits (Account a7 -
and a debit to Regulatory assets {Account 182.3}

4,745
4,745

Accumulated Depracation- BS Account 106
Regulatary Liability - BS Accaunt 254
Cumulative Effect Adjustment - IS Account 435

To reclassify existing Cost of Removal

The COR liability currently reflectad on the Balance Sheet must be fully reversad from the reserve.

The cumulative affact adjustment is offset by a credit to other regulatory credits {Account 407)9
and a debit to Regulatary asaets {Account 182.3)

458
’ 59
398

Regulatory Assets - BS Account 182.3
Regulatory Credits - IS Account 407 . -

Because ARQ costs qualify for SFAS 71 treatmant The cumulative affect adjustment is offset

by a credit to other regulatory credits (Account 407) and a dabit to Regulatory assets {Account 182.3}

5,281
5281
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ARQ Journal Entries
{$000"s)

DESCRIPTION

Annual Amounts

Scott

DEBIT

CREDIT

JOURNAL ENTRIES SUBSEQUENT TO IMPLEMENTATION

Bepreciation Expense - IS Account 403.1
Accumulated Depreciation of ARQ Asset - 8BS Account 108.1

To record monthly depreciation expense

Assumes the ARO Asset is depreciated over the same tife and method as the asset for which
the AROQ is attached.

117.44

117.44

Regulatory Asset Account- BS Acgount 162.3
Regulatory Credits - 1S Account 407

To reverse monthly depreciation to requiatory assetfiability (Utility is S Neutrai)

The monthly depreciation expense must be reflected against a Regulatory Asset so that ail effects
of FAS 143 are Income Statemnent neutral.

117.44

117.44

Accretion Expense - IS Account 411.1
ARD Liability - BS Account 230

To record monthly accretion expense on ARO liability

The liability at implementation must be accreted to the anticipated cash outlay.

616.71

616.71

Regutlatory Asset Account- BS Account 182.3
Regulatory Credits - 1S Account 407

To reverse monthly accretion expense fo requiatory asset/liability (Utility is VS neutral}

The monthly depreciaticn expense must be reflacted against a Regulatory Asset so that all effects
of FAS 143 are iIncome Statement neutral.

616.71

616.71

{Depreciation Expense
Accumulated Depreciation

To record manthiy depreciation expense on underlying asset to which ARQ related

The original asset must somehow be linked to the ARO asset , the ARO
Liability and the Regulatory Asset / Liability.

XXXX

The underlying asset to which the ARQ is attached is already In GIL systems and is shown for illustrative purposes.

XXX
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-Kentucky Utilities Company
ARO Journal Entries

(5000's)
Annual Amount
DESCRIPTION DEBIT  CREDIT
r JOURNAL ENTRIES REQUIRED AT IMPLEMENTATION 1
Long Lived Assets - ARQ - (New Account) 8,608
COR Liability Accrued to Date 2,388
Regufatory Asset 9,926
Curnulative effect 9,926
Regulatory Credits 9,926
Regulatory Liability {New Account) 910
Accumulated Depreciation of ARO Asset - (New Account) 1,836
ARQ Liability - (New Account) 18,477
30,849 30,849
|Terecord the Implementation of FAS 143
Long Lived Assets - ARQ - BS Account 317 8,608
ARO Liability - BS Account 230 8,608

To record the initial present value of ARO liabitity

Upon implementation of FAS 143, the ARQ liability {in current dollars) must be future valuad at the
anticipated inffation rate. The ARQ liability must then be present vatued back to whan the liability
was incurred using risk free rate plus risk premium at the time the liability was incurred,

The ARO asset is valued at the present value of the liability at the time the fiability is incurred.

Cumulative Effect Adjustment - IS Account 435 1,538
Accumulated Depreciation of ARO Asset - BS Account 108 1,536

Yo record accumulated depreciation on ARD assets

Assumes the ARO Asset is depreciated over the same life and method as the asset for which
the ARQ is attached,

The cumulative affect adjustmant is offset by a credit to other regulatory credits {Account 407)
and a debit to Regulatory assets {Account 182.3)

Cumulative Effect Adjustment - IS Account 435 9,869
ARQ Liability - BS Account 230 $,869

To record accurnulated accretion on ARQ liability

The total aceretion expense that would have been incurred if the tiability was accreted from the time
the liability was incurred to date.

The cumulative affect adjustment is offset by a credit to other regutatory credits {Account 407) _
and a debit to Ragulatory assets (Account 182.3)

Accumulated Deprecation- BS Account 108 2,388
Regulatory Liability - B3 Account 254 ’ 910
Cumulative Effect Adjustment - IS Account 435 - 1478

Yo reclassify existing Cost of Removal

The COR liability currently reflected on the Balance Sheet must be fuily reversad from the resaerve.

The cumulative affect adjustment is offset by a credit to other regulatory credita (Account 407)
and a debit to Regulatory assets (Account 182.3)

Regulatary Assets - BS Account 182.3 9,926
Regulatory Credits - IS Account 407 . - 9,926
Because ARO costs guality for SFAS 71 treatment The cumulative affect adjustment is offset

by a credit to other reguiatary credits (Account 407) and a debit to Regulatory assets {Account 182.3)
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DESCRIPTION
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Annual Amounts

DEBIT CREDIT

PART Il JOURNAL ENTRIES SUBSEGUENT 10 IMPLEMENTATION

Deapreciation Expense - IS Account 403.1
Accumulated Depreciation of ARO Asset - BS Account 108.1

To record monthly depreciation expense

Assumes the ARQ Asset is depreciated over the same life and method as the asset for which
the ARG is attached.

176
176

Regulatory Asset Account- BS Account 182.3
Regulatory Credits - 1S Account 407

To reverse monthly depreciation to requlatory assetliability (Utility Is I/'S Neutral]

The monthly depreciation expense must be reflected against a Regulatory Asset so that all effects
of FAS 143 are Income Statement neutral.

176
176

Accretion Expense - IS Account 411.4
ARO Liability - BS Account 230

To record monthly accretion expense on ARO liability

The liability at implementation must be accreted to the anticipated cash outlay.

1,221
1,221

Regulatory Asset Account- BS Account 182.3
Regulatory Credits - IS Account 407

To reverse monthiy accretion expense to requiatory asset/liability (Utility is /S neutral)

The monthly depreciation expense must be refiected against a Regulatory Asset so that all effects
of FAS 143 are Income Statement neutral.

1,221
1,221

Depreciation Expense
Accumulated Depreciation
To record monthly depreciation expense on underlying asset _to which ARO related

The criginal asset must somehow be linked to the ARO asset , the ARO
Liability and the Regulatory Asset / Liability.

The underlying asset to which the ARO is attached is already in G/L systems and is shown for illustrative purposes.

XXX%K
XXXX
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L Trimeie Caunty

el
Assat Numbaer

Azset Original cost -
Rag Qepr Rate 2.40%
Salvage Rate 0.0%4%
GAAP Dupr. Rate 21%
Yaar instakied 1982
Retirement Date 2033
Azsat Lide 51
Agn at 12/2002 19
Rum Lits at 1242002 2
Cugc Ram E51%
nflauon Raie 2.10%,
Inflayon £acior 1,944
ARQ curent ¥
inhatian Adusied ARD
PV @15 Yumr L 0.001
Liability Balanca
Cal Year Year 1-Jan
1983 1 0.00
1984 2 a.00
1985 3 4.00
1966 4 o.c0
1947 5 9.00
1948 ] Q.00
1949 7 2.00
1990 ] 0.00
1991 9 .00
1392 10 Q.00
1993 11 0.00
1994 12 2.0
1995 12 0.00
1998 14 Q.00
1997 15 0.00
1998 16 0.00
12999 17 0.00
2000 L) 0.00
2001 19 000
2002 20 0.00
2003 il 0.00
04 22 2.00
-] 23 a.00
% 24 aoq
07 25 0.00
2008 26 0.00
2009 27 o.00
2010 25 .00
gl ] 29 o.00
2012 an 4.00
2013 n 0.00
2014 n 0.00
2013 a3 0.0
2018 34 0.00
Fllt 35 0.00
2018 £ 0.00
2019 a7 0.00
2020 k3 0.00
20 39 0.00
2022 40 0.00
2021 4t 0.00
2024 42 4.00
2023 a .
2028 “ .
2027 45 -
2028 48 -
2029 47 .
2030 4 .
2841 - 49 .
2032 - S0 -
2031 N 51 -
204 = 52 -
2635 33 -
2036 54 .
2037 55 -
2034 E ] -
200 57 -
2040 58 -
2041 59 -
w2 60 -
2042 L1 -
2044 &2 -
2045 6 -
2045 64 .
2047 65 -
2048 88 -
2048 a7 -
2050 g8 -
"1 49 -
2 o

143 madet-Trimbile.zls
41172003

CALCULATION OF FASB 143 ASSET RETIREMENT OBLIGATION
#nd Transition entries at 01/01/2003

Joumal Exntries ¢ 0101701

ARO Assar-317

Reguialory Assat-182.3

Rug Cracits-407.4

Ex. Deductions-—435
Reg Lisbility-254
Acs Dapraciation-108
ARO Liabilty-230

GAAP

($000's}

0.00
900

0.00
0.00

0.00
0.00
.00

D.00

Annusl  Liabdity Salance
Accretion H-Dae
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L L T T T T T TR
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P e e e e

Ve e
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